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General Instructions:

it e srfa €

All questions are compulsory.

WMIFE RN TEE SR aR e &, &, g e 9ig ™ ¥ Ge-A ¥ 4 7% §
THF IS HF L Ee-d s r e ves F 255 Y - 0T E T s &
3AFG; AN EE-E A 11T E ol TeF F aiwm €

The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;

Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.

T v T w5 faswes 7@ & :
There is no overall choice in this question paper

a;%ﬂ‘
SFerperet 1 war s T
Use of calculator is me permitted.

Ue-H / SECTION - A

TEE N1T4 T TS T 1 AFH R
Question numbers 1 to 4 carry 1 mark each.
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Simplify : {EV[;_::_

2 aww+ya+4xy+sx+4y+4a;§mwmn 1
Find the factors of the polynomial 4x2+y2 +dxy +8x +4y +4 are:
!
3 \/-’éqmﬁﬂﬁx?ﬁqﬁsfmaﬁﬁm 1
4F : :

1rE

In given figurefind the value of x.

/ agﬁﬁ;ﬁﬁymm%myawﬁmﬁwﬁﬁmaﬁ{aqtﬁﬁsﬁ%mm 1
ST |
Find coordinates of the point which lies on y-axis at a distance of 6 units in the negative
direction of y-axis is:

gvs-1/ SECTION - B

TAE A5 10 TF TP U 2 HE W €
Question numbers 5 to 10 carry 2 marks each.

/j ljﬁﬁgﬁﬁﬁﬂﬁmﬁﬁpmq'{“ﬁfﬂqﬁﬂﬁl

Express 132 in the form of P where p and q are integers and q # 0.
q

1/5” k%ﬁmnﬁasma@zp{x}:zx3—kx2+3x+m,(x+2)£rqnfa:ﬁmﬁmﬁm? 2
For what value of k is the polynomial p(x) =223 —kx? +3x+10 exactly divisible by (x+2) ?
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i‘TTFf.ﬁﬂ?ﬁ"Q*AC%IXD,CWWABWwnmwnmmﬁﬁtriﬁﬂmmw 2
B E93T 76 AB=XY

B X
/ \
A Y

In the given figure AC=XD, C is the mid Pﬂiﬂt of AB and D is the mid pnint of XY. Using
Eulid’s axdom show that AB=XY

A

8 ¥ W HAFHfd F AP GW DP HiZA W <D ¥ wufgymw ¥ fag #ismw 5 2
B AHI}:LQ‘*’LT:’__@
LdS = | mr+Le @

iéAPD=£B+ ZC.

D C
In the given figure APand DP are bisectors of ZA and #D. Prove that,
2 ZAPD =/B + «£C

- B LoD = LbtLE - qY
LAPD =D+l —~ LD

P
MP\’P?} = IR Hc
D C
9 i figet & T F ¥ 2 v ¥ S e R E 2 2
@  (-45) 3k@o,5) @ (3 )R (2 %)
(i) (8,0) 3B, ~5) (iv) (58 3R(,5)

Which of the following pairs of points determine a line parallel to 1-axis ?
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14

16

()  (=45)and (10,5) @ (% %) and (2 %)
(i) (8,0)and (8, ~5) @) (5.8)and (5,5)

%m@mmgwmﬁﬁmmmmmsz

24cm®1 (3 = 1.732 )
Using Heron's formula find the area of an equilateral friangle whose perimeter is 24cm. (Take

3 =1.732)
®UE-¥/ SECTION - C

TE T I 11 20 9 O 99 3 &iF B T
Question numbers 11 to 20 carry 3 marks each.

R x=7+43 B, & Jx + %ﬂ'ﬁﬁﬁlﬂﬁml

If x=7+4+/3, find the value of Vx + 71=
X

445  4-5
Wﬁfm{‘;f +J“

4+~.r'" 41-45
b /e e

ST FF 22+ 4x + 4 TEIG x5 — 262 + 4x+ 8 F TF UAEE B | 3
Show that x2 -+ 4x + 4 is a factor of the polynomial x> — 2x* +4x + 8.

TS A 2 (x—y2~7 (232 +12 (e +y)? ’
Factorise : (x—1)2—7 (x2—y?) +12 (x +¥)?

AABC ¥ @ vide & BE @11 CF &1 & &i¥ seR 1 RHS Tewawar Fam = v #3d ge s 3

Fifse fF AABC U gafgang fnge 21
BE and CF are two equal altitudes of a triangle ABC. Using RHS congruence rule prove that
the triangle ABC is isosceles. 4

ﬁﬁﬁﬁﬂﬁmcaﬁwﬁﬂaﬂhﬁcﬁm:ﬁmnﬁmw%: afc 3
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3 A
htﬁgum,ﬂd&ﬁ&ﬁarﬂﬂCquAHCmpmduchedmpmtEandDm}y If
ZEBC=110° and ZACD=135" find #/BAC.

3Hfa & DE||QR & 991 £EAB 3R Z/RBA % GufEuS F9%: APSANBPE1 £APB [ ®ifaU|

- E,

fas ¥ £AOB =t wofgwew va k1 M figpéa DL.LDA@IDMJ.DB%I fag =it foe
()  AOMD =AOLD (i) DL=DM#%I

¥

O M B
In the figure, line ! is the bisector of ZAOB. Dis a pointon . DLIOA and DMIOB. Prove

that
() AOMD=AOLD () DL=DM
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(i) ﬁﬂmﬂﬁ—a%wazx-ammﬁw%l‘s/qf

Write the co-ordinates of the point.

(i) whose ordinate is — 5 and which lies on y-axis.
(ii) which lies on x and y axes both.

(iii) ~ Whose abscissa is —3 and which lies on x-axis.

e

T B F e 3: 5 7 % srqam ¥ § ot g 9w 300 m ¥ 1 st 6 Swa 9@ Fife)
The sides of a triangle are in the ratio 3 : 5 : 7 and its perimeter is 300 m. Find area of a
triangle. : =

§us-5/SECTION - D o

TEE 91219 31 T TAS 9 4 F 8
Question numbers 21 to 31 carry 4 marks each.

21 oy Wi e ot e I < 9 g e § o -y =ieel @ W a4

TER 39 SHEE & W R gem A V2 F TeiE w1 WE fFa aw et A
J5++/3

JIB+[9B+147 * wEiEor Wy fean S et S fARag | 99 -8 e we
B ?
Two classmates Salma and Anil simplified two different expressions during the revision hour

=
and explained to each other their simplifications. Salma explains simplification of —_\g 4_2 5

and Anil explains simplifications of +28+/98++/147 . Write both the simplifications. What
value does it
depict ?

Afea=7—a3E T Ja+—— T W F :
Ja :

If a=7—4+/3 , find the value of Ja_-r--:}r.
a

3
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S W 22+ ==

Factorise : 1y3 +y3—1y-— 1

g1 3 1 mamamwiee

gfE ab+tbc+ca=0%, A 5
aZ —bc b%—ca cz—a]:l

if ab+ bc+ca=0, find value of 21 + 21 - 2
a2 —bc b —ca c*-—-ab

o+ APalnal (0 ?‘/{‘f”‘) Y{ e 33}
(a—b)? H{b—)’ +(c—a)’ ( 0— SV + \U. Lmﬁb

[az—b?']s -+ {bz_cz):“ - (c2 —32)3
(a—b)> +{b—c)* +{c—a)°®

WW:

Simplify

I Tor, Foell 2 7F 2% — 4x + 3 9E9E 2x* — 8% + 327 + 12x — 9 =i Toiwan fasnfo v @) 4
Without actual division prove that 2x*—8x° + 3x* + 12x — 9 is exactly divisible by X —dx+3

s POR & s=wia w& fag O ®1 _,P 4
fig FIfT OP + 0Q + OR >%{I’Q+QR+PR]

O'is a point in the interior of APOR.

Prove that OP +0Q + OR }%{I’Q+QR+PR} &

5—
o Yaie s Rl T 56 W ek ¥ R S S 3 g & eI W gueR E 4

fag =ifse & < T 9o &1
If a transversal interests two lines such that the bisectors of a pair of corresponding angles are
parallel, then prove that the two lines are parallel.

ABCD U 974w ¥ 98 ¥ AD=BC a9/DAB= ~CBA & St f& s F < w21 4
fag ife

(i)  AABD=ABAC
[ BD=AC 37»#3




(i) ZABD=/BAC
4 D

BCD is a quadrilateral in which AD=BC and ZDAB= /CBA as shown in figure. Prove that

(i)  AABD=ABAC
(i) BD=AC
(i) ZABD=/BAC

/ fag & afg I||jm 99121 = (2x +y)% 44x{x+2y}°;ﬁm45=(3y+2ﬂ}°%. A L7AN L8F AA T 4

— I‘ Lz [rerg) = 25 (ve-s)

- 51 L%ﬁ@_{kt%r)ﬁ:iﬁLK\ID‘;‘)
‘T i :Q;lﬁv'ué\: L8 903}
6

S?U? = A T L kmwmﬂwg Ls)

e A S gl Gl
In figure if lm and Z1=(2x+y)5 Li=(x+2y) and £6=(3y+20)°. Find
27 and £8.

D =

isi a3 & AB||DC, £ZBDC=35° 3 ZBAD=80°% | x, y AN 2 T1 FfAY 4

QD) 42 = /50
A2 = 1 F ga)ﬂ
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